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GCSE Mathematics Intermediate Homework Sheet


Numbers 1
Arithmetic

Do the following 10 questions without using a calculator (must show workings out!)

1.
27 ( 7

2.
27 ( 17

3.
45 ( 61



4.
416 ( 14
5.
415 ( 235

6.
672 ( 3
7. 
672 ( 7

8.
672 ( 21

9.
875 ( 25
10.
816 ( 34

11. 
A decorator buys 56 tins of paint at 85p each. How much does she spend ?

12.
Eggs are packed eighteen to a box. How many boxes are needed for 828 eggs ?

13.
How many 49 seater coaches are needed for a school trip for a party of 366 
students ?

Approximate the following without using a calculator
14.
a) 3.6 ( 2.7

b) 4.3 ( 21.6

c) 124 ( 37.1

15.
a) 237 ( 35

b) 447.9 ( 32.8
c) 436 ( 249 ( 4.5

Numbers 2
Percentages

Work out

1.
20% of £60

2.
5% of $200

3.
9% of 500g

4.
18% of 400cm

5.
4.5% of £6.22

6.
3.5% of £12.90
7.
87% of $15.40

8.
8.35 % of 410g
9.
6.3% of 12.50m

Do the following 4 questions without using a calculator

10.
increase £60 by 5%

11.
reduce £65 by 10%


12.
increase £65 by 60%

13.
reduce £66 by 25%

14.
The price of a new car was $5400, but it is increased by 6%. What is the new 
price ?

15.
The population of a town increased by 32% between 1945 and 1985. If there 
were 45000 people in 1945, what was the population in 1985.

Numbers 3 - Ratio’s and Fractions

1. 
Share £30 in the ratio 1:2

2. 
Divide 880g in the ratio 3:5

3.
Share $560 in the ratio 2:1:5



4.
The ratio of oranges to lemons is 2:5 respectively. If there are 60 lemons, how 
many oranges are there ?

5.
A photocopier reduces in the ratio 5:3. If the height of a letter T is 10 cm, 
what is the height of the T on the reduced version ?

6.
A map scale is 1: 10000. Find the actual distance in centimetres represented 
on a map by 5cm. 


Convert your answer to metres and kilometres.

7.
A builder’s plan is drawn to a scale of 2cm to 10m. How long is a road in 
metres if it is 12 cm on the map ?

Without using a calculator, do the following 7 questions.

8.
Share $60 in the ration 1:2:3

9.
In a box, the ratio of pens to pencils is 5:3. If there are 15 pens, how many 
pencils are there ?

10.
If  5/8 of the children in a class are boys, what is the ratio of boys to girls ?

11.
Simplify the following :
a) 20/30

b) 63/90

c) 27/120
12.
Work out and simplify :
a) 2/3 ( 1/4
b) 3/7 ( 1/9
c) 21/42 ( 10/15
13.
Work out and simplify :
a) 2/3 ( 1/6
b) 3/7 ( 1/7
c) 21/42 ( 10/15
14.
Work out and simplify :
a) 10/12 ( 4/12
b) 6/10 ( 1/5
c) 4/7 ( 1/3
Statistics 1 - Averages and Range

1. 
In a maths test marks for the boys were 9, 7, 4, 9, 5 and the marks for the girls were 6, 3, 8, 9, 4, 5.


a) 
Find the range of marks for boys


b) 
Find the range of marks for girls


c) 
Find the mean mark for the boys


d) 
Find the mean mark for the girls


e) 
Find the mean mark for the whole group

2.
The temperature in oC on 17 days was :


1, 0, 2, 2, 0, 4, 1, 3, 2, 1, 2, 3, 4, 5, 4, 5, 5


a) What was the modal temperature ?


b) What was the mean temperature ?

3.
The frequency table shows the weight of 50 oranges sold in a shop.

	weight in g
	70
	80
	90
	100
	110
	120

	frequency
	4
	9
	11
	13
	10
	5



Calculate the mean weight of oranges.

Without the use of a calculator, do the following :

Work out the mode, median and mean of the following set of numbers

4.
3,12,4,6,4,8,5


5.
4,3,5,5,6,3,2,1,7

6.
12,1,10,1,9,3,4,9,7,9

7.
8,0,3,3,1,7,4,1,4,4

8.
The frequency tables show the marks obtained by two different classes in a test. For each table find the mean, mode and median mark. Which class did best (explain) ?

Class A

	mark
	0
	1
	2
	3
	4
	5

	frequency
	3
	5
	8
	9
	5
	6


Class B

	mark
	0
	1
	2
	3
	4
	5

	frequency
	1
	3
	7
	4
	5
	4
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